BER S R R
C WHRE 96 #6)

N FLEI:IIJ%F{I\

R D5 A 71 250 B 2l T W B SR T R v A A, A R B R R VR A I A T T
JE UL PR RO 25 B L8 T o R DR 110 ity A7 B A S Rl S A 2 g, T s o R 1
A, RS JEAR U A AH SR A A B .

K FH TR B P e el e B R AR EOORE S5, TR IR A 8 S /K A P WA T A,
FKEEWVEM, 1£ 620nm A SR, P35 A0 R 7325 b B2 (1% 58 267 4 s v v b €8 0 1o
=\ RFERIE R FNECH -
IEWnIEZE S Firs RAFEER HiE
PREUK | WK 30mLx1 i | 4°CIR-AE

JE 1 0P LR R R NS, FE
R — 77 mgx2 il 4°CIRATF | 10mL KBRIR, Fomr iR S
RFEHIRF 4°CHRAF 4-5 K.

MERHEE AR 2mg & —#7 EP &
F, 0 2mL ZZ MK ERD 1mg/mL 1
B BRSO, R RE S0 i AP
0.02mg/mL ARt i A o

FRE i B mgx1 32 | 4°CIRAF

=\ FTERNEMAM:
BEARA . KB T WAS . 96 FLAR. IRBRER A i) FMZRMK.
M, PERESERN:
BIE SN ANER 2 MERMFUNE, THRAMERER, HESWRE, BHLw
HEAFIRFRER!
1 R&S%

A IR IVAREAR R & (g): $REBGHAF(mL) A 1: 3 BIHLEIIASREGHE (i 0.1g

4, I o3mL RBGED, #mEEH HE DR 1) 95°C/KM 20min, =4 H1 5 R

B JE K R -

R R A I - 7674 51 5 0 JFUK R EP & RO InN 0.7mL 2548 /KB 21 SR FRZ) 1mL,
8000rpm = ¥ 50> Smin, B EIE W 100pL 231 EP & 1, FA0 900uL 27K ED E i
TR 10 £ )5 VR AR I g o

OB A I - 767 H1 5 R0 JFUK 7 EP & RO InN 0.7mL 2548 /K8 21 SR FR ) 1mL,
8000rpm % i B .0» Smin, HX &R 200pL 2¥7 EP &, N 200ul 28508 KB1 i
TR 2 A5 5 A R I 5

OFFFE & R ALREA: 1EAH GBS FE/K M EP NN 0.7mL ZE 18 /K IR 51 B4k
FAZ) ImL, 8000rpm %I B0 Smin, HU_E 3 WAE AAS IR A2 o

B: 4UHAEA:

SRR EOE RN, BOEFR BIE B 500 TN 0.25mL FEHUGHK, 55 RE

5 CFHE DR ) 95°C/KM# 20min, FIEA MG 0.25mL Z&MKIRE], 5 VE I

8000rpm 7 250> Smin, HU_ i AR A N 2
(] HiEmaAE, TRBEAE/MARHEE (10): 2EGE (mL) 73 500~1000: 1 BIELBIHITIRE.

2y EHLAE

@© FEEFRFH 30min L E, T K E 620nm, A RFIHEE =R (25°0),

@ 1£ EP B KN :



B THE PR s
. ‘b W72 &

(uL) CRE—% | R0

7&K 100 90

PR 100

iR 10

RAFA)— 200 200 200

WA, B 95°C/K¥ Smin (FR'E, Biib/Ka#, AH,
HY 200uL %% 2 96 LA, T 620nm SHUROGIE A
[E] # ANESEETHHE, TOUSMUEE EHE VAR EE doul), %

BRI LD, MEMERHN VEMNRRAEARITE.

. ERITEHE:

1. FEAREETHE:

Bl (mg/g)=(A ME-A 2 F)+(A FtfE-A S F)X(C XV 1)V s VXW)F1.11xD

=0.0018%(A ME-A 75 ) ~(A FrffE-A )V ppu=V¥W)xD

2. RMEET A

B (ug/10% cell)=(A M 5E-A 25 (A FRHE-A 25 F)X(C 15XV 15)¥ 103V =V 1x500)
+1.11xD
=1.8%(A ME-A %4 F)(A FplE-A 45 )V = V1x500)xD

V ,——-0.1mL; V pas——-0.01mL;
V--- 32 B S ARFR, 1mL; V142G, 0.5mL;

C eI Z, 0.02mg/mL; W--EUFE &, g 5004 Ut g, Jis
D-—-FEARNM AT MBS 2, HFEIRE D {E24 10, WUFEE D {E4 2;
11172 By 45 7 265 0 5 B 5 SR o i T B ) o 4



